(Ftt) i

N—RIUXU

51wk

Or—F4>7
TUAVS

ISVEVT
A

D

N

HEIGHT BASES (ROUND) No.E-766
~
FLAE KR ()
SCM420 A HRC60 + 3
REUUE =)
//0.005[a]
N
o
Y DI
4 ‘
oe N
&l oA
()
"/
[ [axs Qi e
1-5-No.|  No. A BY cw® D E  F G H mEg -
: : : 1~9 @ 10@BMUE
55595 | KZR2015 | 20 = 15  M8x125 9 13 02 10 17 39 3,850 3,470
55596 | KZR2016 | 20 = 16  M8x125 9 13 002 10 17 41 3,850 3,470
55597 | KZR2017 | 20 = 17  M8x1.25 9 1302 10 @ 17 43 3,850 3,470
55598 | KZR2018 | 20 18  M8x1.25 9 13 02 10 @ 17 46 3,850 3,470
55599 | KZR2019 | 20 19  M8x125 9 13 02 10 17 49 3,850 3,470
55600 | KZR2020 | 20 20  M8x125 9 13 002 10 17 51 3,850 3,470
55601 | KZR2522 | 25 = 22 - M8x1.25 9 15 02 10 . 19 88 4,290 3,860
55602 | KZR2524 | 25 = 24  M8x1.25 9 15 02 10 = 19 9% 4,290 3,860
55603 | KZR2525 | 25 = 25  M8x125 9 15 02 10 19 . 101 4,290 3,860
55604 | KZR3020 | 30 = 20  M8x125 9 18 0 02 10 27 118 4,840 4,360
55605 | KZR3030 | 30 = 30 - M8x1.25 9 18 02 10 - 27 175 4,840 4,360

http://www.nabeya.co.jp

1R




	F214J_0320

